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Test Yourself
Chapter 5    Solving equations



Name: ___________________________

All Multiple Choice

	1 
	The linear equation represented by the sentence, ‘when 7 is subtracted from a certain number, the result is 6 times that certain number’ is:

A x – 7 = 6

B x – 7 = 6x
C 7 – x = 6x
D 7 – x = 6


	B

	2 
	Which one of the following is a linear equation?

A x3 = 1

B x = x2 + 2

C x(x + 1) = 2

D 
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	D

	3 
	The solution to 20 = 
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 is:

A x = 5

B x = (5

C x = 24

D x = 80


	D

	4 
	The solution to the equation x + 7 = 3 is:

A x = 4

B x = (4

C x = 
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D x = –
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	B

	5 
	An equation where the solution is 
x = (40 could be:

A –
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 = 1

B 40 – x = 0

C x + 40 = 1

D 40x = 1


	A

	6 
	The solution to 5x – 12 = 52 is:

A x = 8

B x = (8

C x = 320

D x = 12.8


	D

	7 
	The solution to the equation 
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 = 12 is:

A x = 
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B x = 
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C x = 
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D x = 12


	C

	8 
	The solution to the equation 
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 is:

A x = 2

B x = (2

C x = 0

D x = 6


	B

	9 
	The solution to the equation 
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 is:

A 10

B 2

C 
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D 18
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	10 
	The solution to the equation 
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A 11

B 
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C 5

D –11


	C

	11 
	The solution to the equation 
6(x + 4) = 0 is:

A x = (4

B x = 4

C x = 0

D x = (
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	A

	12 
	The solution to the equation 
(7(x + 1) = 4 is:

A x = 
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B x = –
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C x = 
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D x = –
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	D

	13 
	The solution to the equation
6(2x – 3) = (24 is:

A x = (4

B x = (1

C x = (0.5

D x = 0.5


	C

	14 
	The solution to the equation
5(4x – 3) = 2 is:

A x = (0.1

B x = 1.25

C x = 0.1

D x = 0.85


	D

	15 
	The solution to the equation 
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A –1

B 1

C 17

D –7


	D

	16 
	When a certain number is subtracted from 5, the result is the same as when 2 times the same number is added to 11. The number representing the certain number is:

A –16

B –2

C 16

D 
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	17 
	The solution to the equation
2(x + 3) + 3(x + 3) = 0 is:

A x = (3

B x = 3

C x = 15

D x = 0.6


	A

	18 
	The solution to the equation
2(x + 3) + 3(x – 3) = 0 is:

A x = (3

B x = 3

C x = 15

D x = 0.6


	D
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